Using SDAM in Regional Analysis 

· Purpose
To demonstrate how to use SDAM in spatial regression analysis.  As a study case, we will show the steps on how to analyze the relationship between the number of deaths due to traffic accidents and population by age class in the 23 wards of Tokyo. 

· Data Used 

GIS data of Tokyo ward section with social statistical data for the year 2000 as follows:   
ACCIDENT:  Number of deaths due to accident

POP: Total Population 

POP15:15（%）Percentage of Population below 15 years old  

POP65: 65（%）Percentage of Population 65 years old and above

· Procedure

1. From existing excel data, make a column of percentage of population that is above 15 years old but below 65 years old.  
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Figure 1: Insertion of a new column

Note:  In adding a new column, you have to insert the new column between the middle of the existing columns.  If you insert the new column at the end, the new column cannot be detected by the software.  

2. Search spatial data analysis (Toolbar > Search spatial data analysis)
In order to find out the relationship of the two variables, designate the number of deaths due to traffic accidents in the X axis and the percentage of population above 15 years old and below 65 in the Y axis, then perform search spatial data analysis.  
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Figure 2: Results of Search Spatial Data Analysis 

3. 
Regression Analysis (Toolbar > Multivariate Analysis > Regression Analysis)

In order to obtain a quantitative results in the analysis, perform regression analysis.  

Note: In order to do regression analysis, select the relative number (ratio) between variable “ACCIDENT" in the [Select the denominator for the dependent variable] field, then, select “POP” and insert a check mark.     

Select “POP 15-65” as independent variable and click the “Apply” button.

The results of calculation for the regression analysis will be presented.  

Select the tab of “predicted value and its residual,” then click the “residual map display.”  The residual map is then displayed.  
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Figure 3: Selection of variables for

 Figure 4: Display of Calculation
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Figure 5: Display of Map of the Regression Residual

